WHY DID THE CLOCK

| ALWAYS BELCH AT 9?
| HE JUST 8.




Convert these times into 24 hour clock times.







Of the 2736 people who use a swimming
pool in one month, 1258 are children. How
many are adults?

2736 - 1258

Estimate = 3000 - 1000 = 2000

2736
- 1258




Solve,

9205 - 3863 E =9000 - 4000 = 5000




Raina has £94 037 in her savings
account. She takes out £14 749. How
much is left in the account?

£94037 - £14749

E = 94000 - 15000 = 79000

94037
- 14749




920 370 - 536 514

E = 900000 - 500000 = 400000

920 370
- 236 914




A company makes 761 409 jars of jam
and 568 7035 jars of marmalade. How
many fewer jars of marmalade than jam
are made?

761409 - 568705

E = 800000 - 600000 = 200000

761409
= 268709




08.10.20

a) 2763 - 1435
b) 3950 - 1442
c) 8871 - 6923
d) 6085 - 3537
e) 8307 - 2792
f) 6427 - 2519
g) 73541 - 15646
h) 97190 - 47329
i) 66042 - 27565
i) 50825 - 31 869

C

1) 30006 - 15467
i) 13009 - 3489

i) 1590006 - 34978

B 1)48832-14503
2) 39104 - 22934
3) 78383 - 11385
4) 71002 - 13568
5) 29756 - 26245
6) 85144 - 32375
7) 32317 - 28698
8) 424512 - 236678
9) 600102 - 159207
10) 911570 - 256992

Please complete 5 examples
from A and B and all from C.



PLENARY.
Can you solve 5009 - 23487

5009
- 2348

Rosie complete the following calculation

“incorrectly.

28701
- (621
21180 Explain the mistake
to Rosie and correct it







Rosie completes this subtraction
incorrectly.

28701
-_(B2]

21180

Explain the mistake to Rosie and correct
it for her.




